SM2 Chapter 5 Practice Test Name
Probability and Statistics Period Date

Represent the sample space for the following by writing it as a set AND by making a tree diagram.

1) Jeremy could go to baseball, basketball, or soccer camp as a counselor or an assistant director.
(4o Could do Hne tree di m;ro\tm in a clifferent wugs,)
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2) Eva is shopping for school supplies. She has a choice of one of each of the following: 6 backpacks, outcomes
8 notebooks, 3 pencil cases, 3 brands of pencils, 8 brands of pens, 4 types of calculators, and 4 colors “f,;‘%‘fj

of highlighters. How many different choices does she have for school supplies? ém?*f\?' *:‘g
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3) Chloe is buying a laptop. She has a choice of 3 hard drive sizes, 3 processor speeds, 4 colors, 2 screen
sizes, 2 warranty options, and 4 cases. She knows she wants a blue laptop with the longest warranty.
How many choices does she have for laptops if she gets a blue one with the | ongest warranty?
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4) When two six-sided dice are rolled, there are 36 possible outcomes.
a. Find the probability that the sum is 5.
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b. Find the probablhty that the sum is not 5.
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6) A manufacturer tests 900 dishwashers and finds that 24 of them are defective. Find the probability
that a dishwasher chosen at random has a defect. An apartment building orders 40 of the

dishwashers. Predict the numbuf_dlshwashers in the apartment with defects.
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Tell whether the events are independent or dependent. Explain your reasoning.

7) You and a friend are picking teams for a softball game. You randomly choose a player. Then your
friend randomly chooses a player.

Event A: You choose a pitcher. Event B: Your friend chooses a first baseman.

Dependent. Your friend can't choose the same person for first baseman that you chose for pitcher

(Fhe player is not “put back”) so the pick of the first player does affect the pick of the second.

8) You are making bracelets for party favors. You randomly choose a charm and a piece of leather.

Event A: You choose heart-shaped charm first. Event B: You choose a brown piece of leather second.

[ndependent. The pick of a charm does wot affect the pick of a prece of leather.

Determine whether the events are independent or dependent. Then find the probability.
A sack contains the 26 letters of the alphabet, each printed on a separate wooden
9) tile. You randomly draw one letter, and then you randomly draw a second letter.

Find the probability of each pair of events. [ = I LB
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a. | You replace the first Ietter before drawing the second letter.

Event A: The first letter drawn is T. EQL

Event B: The second letter drawn is A. 7‘;
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b. You do not rcglace‘tht flrst lttter tlle before drawmg the second letter tile.
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Event A: The first letter drawn is P. —7/ pobabites 68
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10) In a game, two dice are tossed and both roll a SlX
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11) From a standard deck of 52 cards a king is drawn and not put back in the deck. Then a second king is

drawn.
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12) From a drawer of 8 blue socks and 6 black socks, a blue sock is drawn and p_ut_lzac_, Then another
blue sock is drawn. -
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13) Mina wants to buy a drink from a vending machine. In her pocket are 2 nickels, 3 quarters, and 5
dimes. What is the probablhty she first pulls out a quarter and then another quarter? (o comms fotal
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Determine the probability of each event.

14) If the chance of being selected for the student balhff program is 1 in 200 what is the probability of

not being chosen?
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15) If you have a 40% chance of maklng a free throw, what is the probability of mlssm\)g a free throw?

007 -40% éC o/

(r =)

16) Jeanie bought 10 raffle tickets. If 250 were sold, what is the probability that one of Jeanie’s tickets will

not be selected? 7
]
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Complete the two-way table.
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Use the following table to complete part a. 7 '
19) a.) Make a two-way table that shows the joint and

Fishing License marginal relative frequencies.
Yes No | Total relative Fishing License
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20) Evaluate the expression. SHOW YOUR WORK. (or use calculator)
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State whether the following is a[permutation)or @@@situation. Then find the number of
possibilities. order makes a difference order does not mare a differznce

21) Student ID numbers are 4 digits long selected from the 10 possible digits from 0 to 9. Digits cannot be
repeated. How many possible identification numbers are there?
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22) In chemistry lab, you need to test six samples of the twelve (your lab partner will test the rest) for
your table. How many ways can you select six different samples w1thout testlng the same sample twice?
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State whether the situation is a permutation or combination. Then calculate the probability. 7#¢
23) What is the probability that Cecilia, Annie, and Kimi are the Lfirst{ﬂfﬁ?e]gymr\la@to perform their
floor routine of the top seven? does’s specify sraey
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24) What is the probability that after all seven gymnasts perform, that Annie will get first, Cecilia will get

second place, and K1m1 third? ¢ erdev) o ——another was +0
P A}J 4{1\11\: vi i+ .
: - -3 g a A5 owdcome
PermutationN | tetal l‘rofs'bl‘z ta g A’Ll Lf’ 5| - ,,«:j‘% A :?{_io_ 7 -
l‘”—A 2* C 3:‘) [4 o l [ s040 -,2:40 2(‘\)
1 J"H’QV{VH’ fom 'F(XVOV'&b]Q ( /On[\j one of Mo ‘AY"ﬂnq,cmenb‘ B{b -&A\lo;‘nb:z ' 2 3 3 f :1‘
ls& iz and /‘\ 31«.\ (s¥ 2n43 3v-d ou..’d ¢ be = =) " A' : . L 24
K DPéu‘f’I callyy 4 2""(_ 3 K) (abou 0.49%)
25) What is the probability that in a row of 8 pool balls, the solid 2 and t}'1e striped 11 would be first and
second from theleft? 0. p o _/91,,-_ g2l .
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26) If you randomly place 24 photos in a{ photo album and you can place four photos on the first page,

what is the probability that you choose the four oldest photos?
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27) Comp]ete the two-way frequency table for the activities chosen by 74 {teenagers on an activity holiday.
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28) What is the is the probability that a randomly chosen teenager is a girl chose mountain climbing?
20 _ 10
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29)What is the probability that a randomly selected teenager chose rock climbing?
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30)What is the probability that a randomly selected b chdse rocﬁ climbing?
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31)What is the probability that a randomly selected teen who chose mountain climbing is a girl?
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